s

Phép chia Da thtic
Tén Ngay thang: Piém:
215 + 42 +55x— 8 265 + 52 —x
Tx—1 X
24x3 — 4% — 12x 64> — 402 + T2x
4x 8x
40x3 — 32 —53x— 20 272 — 78x+ 16
S5x+4 Ox—2
6x2 — 21x— 27 16x° + 682 + 96x + 48
3x+3 4x + &
722 + 46x — 16 A2x3 — 282 + 28x
&x—2 Tx
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7AW ﬁago g b oh k%%

Phép chia Da thirc
Tén: Ngay thang: Piém:
213 + 42 + 55x — 8 203+ 5% —x
Tx—1 X
3%+ x+8 27 + 5x— 1
24x° — 4% — 12x 64x” — 4057 + T2x
4x 8x
6x2—x—3 8x2—5x+9
40x3 — 32 —53x— 20 272 — 78x+ 16
S5x+4 Ox—2
8% — Tx—5 3x—8
6x2 — 21x— 27 16x° + 682 + 96x + 48
3x+3 4x+ 8
2x—9 4% +9x+6
72x2 + 46x — 16 4253 — 28x% + 28x
8x—2 Tx
Ox + 8 6x> — 4x+ 4
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